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SECTION A (PHYSICS)

1. Auinfinite line produces a field of0 10
NG ata distance of zem from it. Calculate the
lincar charge density.

@) 0.1 weim o 210ucm
(© 0isHem () 218 Hcin
rFJ Num. of these:

z phore of 0.1 m
nmndm “The Geld intensit
20108 Laseioing

(©) L 10°NC
() Noweof thesa

5w prgtonsan elegeed when ey

2 104 apact. Find e speed wi

D) 144 10°NC

5510 apart, Mass of proton=1.67 10 kg,
() 203ax10°mis  (B) 3x10mls
(©) 2034x10°w/s (D) 2034x10 s
(€} Noneof these.
& proton i sceecated eum vl s Ve
dor by & polential dilfervace
:‘.;: » inetic energy ofthe proton acceleration

(A (144107 ) [aax20%)
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(©) [144x 107
&) Noneof thes

) (144107

‘How much energy will be stored in a capacilor

O47014 F capacty hving charged by a bty
ar20v?

(3) {94 10
© fpax104
) None ofthess

®) '[u 4x 109
®) [04x10%)

“The potential of a conductor is 300 V and its

capacitance is 0.01F. Tho charge on it is
B¢ (©3C [0 4C

i1 Tias resistance of
hen

pper wire o Tongih
D010 Fits rsistvity s 1.7x 108 m.
the adius o the wine s
) 105103 (8) 208x10
(@ 10510%m ) 205x10
F) Noneof these

Acurrent of 5 flows through an electric press

of esistanco 442 The energy consumed in 5
minutes by the pross.
W a0t B Bpao

) 133x10%

Q R3x0L
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) None of these




[image: image2.jpg]9. In the nelwork, the equivalent resistance
Tetween A and Bis

Hs
|

CHa C —CH CHiCHs
| o

CHa
WRZ MR
() Noncof these

10. A semi-circular acc of radius 20cm carries a
curcent of 10A. The magnitude of the magnel

©® DR

ield at the centre of arc.
() 137X105T () 17%10°T
(©) 17%10% ) 18x10%T
) Noneof theso

11, The vallue of resistance needed (0 convert a
plamometeratssisnce 1200 whichivesa
ull scaledeflection fr a current of SmA inlo &
voltmoter of 50 volt Fange.
(4) 97702 (D) 988062 (C) 96800 (D) 963002
) Nonoof these

12 The suscoptibillty of magnesium at 300K
12100 AU what  temperature. will
Siccaplbility Incronses 0 1.8%10%
200K (B J00K. (G) 3K 1) 400K
) Nousoftheso

19, Tho magnetichux hreading  coil changes from
12510 wh 0 6 10w n 0.01 second. The
inducedam . is
)02V )03V €05V D) 08
&) Noncofhase

T2 Tho s voltagodrup scrosseach lement 135
Senatian

CHy

|
CHa— C—CHa CHaCHa CHs

“Th gt rms emis
@0V () 100V (©) 1000V () 10000V
) Nonoof these

15. Aconcave mirror offocal length 20cm formus o
ealimageat distance of 40cm. The position
af object’

(4) 20cm(B) 30em (C) 40cm ) S0em
(E) Noveol these

16. A double concave lens of gluss of n = 1.6 has
‘radil of curvature of 30 cm and 60 cm. 1S focal

Iengthin airis?
(4) 100cm (®) 1300m
(©) 180cm ) 2006m

&1 Noveof these

i o2

17. Theleastditance of distinctvisionfor  young
aduit with normal vison s?
%) Zm () 25om (©)25em ) z5m
(£} Nonoof e
10, With whatspecd should  gaaxy move e
S0l heshdram lne 4 590.0 m s observed
580,00,
(&) 306105 ms
© Somxivims
F) Noneal thse
iy ——e—
mnﬂ{mimmnﬁm.mmmhﬁ'
Curantis?
(&) 520ma
@ 802mA
) Nonsolhese
20, Tho T Tower hasa hoight a1 70m, The covrage
rango i, Radiusofth carth .45 00,
&) 30k () 268, (©) 205k ) 29k
) Nonsof theso

SECTION B (CHEMISTRY)

21, Which of the following will not underso
cannizary reaction on heating with an alkali

Saluton
mcd,cio () (cH), e
B &g

{€) nedo
) All of these

22, Which of the following
exist as a bipolarion T

(A) H.NCH,COOH.

10 Swon

(€) H, N CH, G, GH, OH.
o oo -
(E) Noneof these

23, Whatis the roleof Cao n dehydration ofsodium
sall of acid?

R CooNa NAOH+Ca0 R—H
(A) Catalyst (B Dryingagent

@) 30810 mis
) 308510 s

@) 87mA
) 864mA

(C) Dehydrating agont
) Nucleophils (F) Hlectrophile
24, Neo - heptyl alcohol is correctly reprosented as
cHa

@ i

—cH CHicHs

| o
CH)H
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() Nonea these

25, Tho IUPAC name of the compound

0

OO

(4) Tota phengl mothane

(B) 1,11, 1~ tetraphenyl methane

0) LL1,1-totra yclo hexyl methane
) Methyno-1,1,11-etracycloboxano
) Nonoof these

26 T cubic it cll of aymim has ey
lengihol 345 pn. s densily 5207 o

(A) Primitive (8) Face - centered
(€) Body centered (D) End - centered
(€) None of these
27. Exporimental material in th
i el e L
(A) Escherichia coli
) Drosophila melanogaster
©) Paeumococcus
) Neutrospora crassa

[E) Noneof these.
28. Which one of the following has highest number

ofisomers?

@) ot @ Ooen)e

(€) Ru(NHy) cf

) [In(PP,), HCo)F*
® Noveof these

20, The greator eactivily o F, isdue to
(A) Lower clctron affnity of P
) Higher cloctroncgativity of F
(C) Lowwor bond encrgy of F— F bond.
) Goscous state ofF,
&) Noncof these

30. Colemmiles
(4) Co [B,0,0H),1. 2H,0

@) C3,3,0,,.5H,0

REFAOS'10/AGM 2

© Ca(Om),

D Reb,0 240
) Nepeot e

3. Forthe eaction A + B o € + D the saration
of the cancentration of the product with time s
sivnby e

HE  ©c oo

a5 wmmiw 5

5
g
2
1

posil
(A) 5.8 mg

(€) 15.8mg
(€) 258mg.

(8) 108mg
(0} 208mg

. Wk aatament s o o sllon 00200
A3 2ot solution conain 0080 ol of
8) 2Lofthesoluton contais 0020 mol of S0,
© 1 b Lt
(0] |Lah.hn-ulunnn contains 0,080 mol of SO

(©) Noneof these
4. Wilhndorcotn b hemicalrcion €G- 0;
-+ 1atlcl > 2Kel + 2Crcl, + 3el, + 7H,
‘Cousider the following satements.
) K,Cr, 0, acts as oxidising agent
() Hel i the reducing agont
() K, Gr, O, is the reducing agant
el he oxidising agent

n contains 0.020 mol of

Which of the following statements are correct?
(A) i) and (i) 8) (i) and

(€) () and () (D) {i) and (iv)

(E) All of these

35. The term anomers of glucose efers to

() tsomers of glucose that
configuration at carbons one.
(C-1andC-4)

@® A mixture of (D) glucose and (L)
glucose

(©) Enantiomers of glucase

(©) Fsomrs of glucose that differ in
configuration at carbon ane (C - )

(® None of these
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[image: image4.jpg]30, Therte consant, acieation enery and he
‘oxponential facto ofa chemical megction 1 35
are 8 10% S 132 K] mol and 9% 10% §1
Fespectively. The vaiug of rue constant un
iy
() 910853
(© ax10tst
) Nonoof thess

37 Thestrngiha volumes f 2 sletion
e oS e
WY IV ©nv © sy

&) Nowwof thee

8. A raro s that was detectd in the sun befors
its discovery on Earth s

WH  BA OGN O
) Nonof these

(8) 8x 101857
(D) 112x 10251

39. The Coagulation values of electrolytes used for
cousulaton of 5., ae givon (i milimoles
per itre) below
I Nad =52

IV MgSo,
“Tho correct onier of thie focculating power is
A>TV @) >0 m=1v
©N>M>0>1 ©) NV =1>01>1
(E} Noneof these.

“The larges musuber of molecules i i
(8)2580(C0, (0] a0golH,0

(©) 4650C,HOH (D) 5480(N,0

) Allcontains sume numbor of molaculs

SECTION C (BIOLOGY)

ibryo
dremonts of the developi
Toetus. What i1t !

(4) Placenta @) Embryo
(€} Fallopian Tube (D) Utorus,
(€] None of theso

42, When the bacteria of cholera are ingested in dhe

e
B R
R p et
(C) Small Intestine (D) Liver

(8) Nonoof these .

43, Statement 1: Growth:of pollen tube starls when
pollongrainsalachod o
tatement 2: Sposopiyt
Fusion of o diploid gamots
(3) Statoment 1 iscortoct
®) Statement 25 cormoct.

s 171 ]

product of the

(€) Both Statements am cormoct
D) Both Staterments am incomact
None of these

A slow process of roplacement of existing
ivs with the bettr adopted specis do

shernate evolution, ch

‘condition, predaiors and disease i calod:

&) Natural Extinction

(®) Mass Extinction

(©) Anthropoganic Exinction

) Planted Extinetion

®) None of theso

5. The circultion of cycling of lemeats in an
‘ecosystem is known as:
(A) Goological Cyclinyg
() Geo- chomical Cyclin
(©) Bio~ geochemical Cycling
D) Nutrient Cycling
) Noneof theso

6. In India, we find mangors with different
Masoues, colours, fbro contont, sugar content
and even shelf ~ife, The large variation is an
account of: :

(3) Spocies diversity (8] lnduced mutali
(©) Genetic diversity () Hybridization

&) None of these

47, Darwin in his "
ot Delieve in any rola of which one of the
follows

* (A) Purasites and prodators as natural enoinios
) Survival of the Fitiost
(©) Struggle for existence.
(0} Discontinuous variations

{8) Nonofthess
P —— -y
the process of chidbirth ?
{(A) Estrogen. (B) Oxytocin
() Fronin ) Tetosne
{6 Nomoftheso
e et s cromyle. Nl st
e micnoppi bt il e
embeyo sac though
{(A) Chalazal end
{®) Latora,

(€] Antipodal bapstorium
D) Micropylar end.
(B) None of these.

“Threw carp fshes, Catla Labe and Cieehino,
can be grown ogetler in the same pond mors

ccmoniically s thy Have

(A) Positive interactions

) Commsins

Q) Symblosis

) No compotition fo food

{E) None of these

g
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